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The figures in the margin indicate full marks
Jor the questions

1. (@) 5t & fil forar - 1x4=4
Write True or False :

(i) TSR I I ST SIS T4 341 27 |

Tax is levied on total income of an
assessee.

(ii) SIS TNAFY SR 9w G P Wy
e s =)

The total income of a person is
determined on the basis of his
citizenship in India.
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(b) AR B @t 4

(2

(iff) TRFY W 4_ 10(10) 1z3H owrE
NS HATES |

Section 10(10) relates to payment

of gratuity under the Income-tax
Act.

(iv) BT T TR 4R T z-eAaa
R @RI S YT 39|
Income from house property held

by a local authority shall be
exempted from tax.

Fill in the blanks :

() T AT i P SRws
e FRefm @ @@ @ e
IS |
Agricultural income from land
situated in India is fully exempted

under section of the Income-
tax Act.

(i) SRS3 @ fRfe JomE aoe
T AR ARl Wiy CHIS
BICI&MT |

Income which accrues or arises
in London from a business

controlled from India is taxable in
the case of

( Continued )

1x4=4

. 1o

s

o R TR A e

( 3 )

(i) TR gerf Ol 8RS - T
74 4y ¥4 |

The value of perquisites is charge-
able to tax under the head .

’ 41t
(iv) R =18t St fomge =i2d uﬁhﬁ;ﬂl
0l 2§, oie ____ ool I @[ =
The rent fixed under the nf:ent
Control Act is called rent.

Wwwﬁmmﬁﬁnﬁmﬂm

= 4x4=16
fordll -
the
Write short notes on any four of
following :
@ e
Previous year
(b) TR @of SIG
Perquisites
(c) e
Person
(@ e St @R e
Deemed owner of house property
(e) Rl G
Education allowance
/381 ( Turn Qver )
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( 4)

3. a& e = e ot @ e s,
foran )
How will you determine the residential
status of an individual?
&4 / Or
RS TR R e SN WA I W 9%
BB s PR Foopd @S AW q7m, N
JeFrs & 59
“Income tax is charged on the income of the
previous year.” Do you fully agree with this
statement? If not, what are the exceptions?
4. IR T TEAT IETE AN ol ot WA

(PTe T R @owe s s, g
G | I 3x4=12
Explain the treatment of the following items
in computing taxable income in case of
income from salary :
fa) s s

Education allowance
(b) AN “fRTS @S

Profits in lieu of salary
(c) BOI® 9% 4T FHAFASA

Leave encashment
(d) 35 F= @3

Leave travel concession
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54 / Or

B A garabre wafge a5 drmise e asws |
(©Eq TN 141 (214 WA @AY TS el e
Mr. A is a manager of an industry at
Guwahati. The particulars of his salary
income are as follows :
(i) 991 waE—50,000 5@ ofE 513
Basic salary—2 50,000 p.m.
(it) Fafw @ (50% facme 58 wepif wrg)—
10,000 b& #fe Wz
Dearness allowance (50% of this is mn
terms of employment}—% 10,000 p.m.
(i) SEAw- orwm I5-—1,500 b «f% Iy
Entertainment allowance—¥ 1,500 p.m.
(iv) fofen aw6—600 5@ #fz qnz
Medical allowance—% 600 p.m.
(v) ¥4 A A5—12,000 b= A7 Iz
House rent allowance—% 12,000 p.m.
(vi) T4 SrE @ ®W—16,000 531 «fz ans
Rent paid for the house—2% 16,000 p m
(vii) 1-2 b =faa WBasrd e Srmwer®a v
At fa rm wm wE wEw afHE s
FHETA A AR I FA TR
WasrSa w5 3T A |
Car of 1:2 litres capacity is provided by
the employer for private and official
use. Employer meets expenses of car
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( 6 ) (7 )

(vii)) Bt e (RERB o guRY W)—
6.000 B W ©Iel—89,000 b
Education allowance (for three children) Fair rent—% 89,000

TS Siel—74,000 5

—2 6,000
ix) B A {REE a1 2,000 Bt R0 T USRI RR =S Y000

Mr. A paid € 2,000 for his professional of% Z T SIE e TW—7,000 B

tax. The house has been let out for—
2023-24 T W Py FOHS QA WA ¥ 7,000 p.m.
sf¥me Ry @4t 12 f197® Igae SWMR T@ e 2 T |
Compute income under the head salary for There was unrealized rent for 2 months
the Assessment Year 2023-24. during the previous year.

. ‘ e e r (S8 (NPT ReIM FE—6,000 T
5. AR Y W 5 QN W (TP frgost 9 - .
™ S ‘ Municipal tax paid by owner—% 6,000

) WERSY WEW, 1961 SRl w-wlye R
oY (TS T Al i SR N Slee ol SEEE  (TRed ofevny FE—

ooy RYFPINE Sl $4 1 J+d+d=11 5,000 B

Define annual value. How is it determined? Municipal tax paid by tenant—¥ 5,000

State the provisions of the [ncome-tax 2023-24 ¥ T JZ-ToE

Act, 1961 relating to computation of income Rt 1 & o1 R G TR

from house property, sell-accupied house 0 ' 11

property. Calculate net annual value of the house
o 4 Or property for the Assessment Year 2023-24.

wor® Tyl Reena sy A DA griies o

ol W= o 6. (a) TR @S &7 zwom e AR g

Ared WEd A &1 9/ S4GAT =T

Mr. D is the owner of a house property at
Dibrugarh and the particulars relating to the

house are as follows :
ST EiEs--80,000 B between short-term capital gain and
Municipal value—2 80,000 i long-term capital gain. Briefly explain
the capital gain exempted u/s 54GA.

IUE TN A W e el 3+6+3=12

What is capital gain? Distinguish
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( 8 )

&gl / Or

(b) S AT o[ Al EF e A AR
iz, 19613 I IR A T4 12

Discuss, in detail, the provisions of the
Income-tax Act, 1961 for determination
of income from other sources.

7. AP AR, 1961 F@EEA @A FHRG AF (R5-TF
@B RYFPR. SHIErs= 34 | 12

Explain the provisions of the Income-tax Act,
1961 regarding carry forward and set-off
losses.

<9 / Or

(@) g5 Tore Few 5 @2 AAYS Tereiaa
CFTS 4[l 80 TP 2T s &,
HIEEAG T4 | 3+5=8

What do you mean by gross total
income? Write down the basic rules
that govern deduction u/s 80.

(b) T TeAA Jdl ol 'Y N @O 5y Grel
farayt | 4

Write a short note on income from
other sources.

* Kk K
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